












1 DECAL, PANEL, INSTRUCTION, E-3000-C 1 JD7765-02
2-A TRNSFRMR, CTRL, OPN, 100VA, 120-460VP, 24VS, 230-460V 1 JD2868
2-B TRNSFRMR, CTRL, OPN, 100VA, 600VP, 24VS 1 JD3987-13
2-C TRNSFRMR,CTRL,OPN,100VA,415P,24VS 1 JD3987-14
3 BOX, JUNCTION, STEEL, PAINTED, ALL-ELECTRIC 1 JP7713
4 SCREW, MACHINE, PHILLIP, ST, PL, 6-32X1/4 2 JD6206
5 SCREW, FLANGE, HEX, SERR, ST, PL, 8-32x3/8 6 JD7901-B
6 SCREW, FLANGE, HEX, SERR, ST, PL, 8-32x5/8 4 JD7901-D
7 SCREW, FLANGE, HEX, SERR, ST, PL, 1/4-20X3/8 4 JD7904
8 PLATE, MOUNTING, JUNCTION, BOX, E-X000-C 1 JP7713-02
9 KNOB, RUBBER, BLACK, CONTROL, TEMPERATURE 1 JD7799
10 BOARD, CIRCUIT, PRINTED, ALL MACHINES 1 JB5000
11 NIPPLE, CLOSE, STEEL, SCH40, 1-1/2"NPT 1 JD1243
12 BUSHING, CONDUIT, INSULATED, PLASTIC, 1-1/2 2 JD7605-01
13 FUSE, ELEMENT, DUAL, DELAY, TIME, 250V, 6AMP 1 JD3107-11
14 CONTROL, LIMIT, TEMPERATURE, AUTOMATIC 1 JD3701-B
15 LUG, TERMINAL, COPPER, 1/4BOLT, 1/0-6GAUGE 1 JP1706
16 SWITCH, ROCKER, SP, ST, 10A, 24V, LED LIGHTS 2 JE1004
17 SWITCH, ROCKER, DP, DT, OFF-ON-MOM, 10A, 24V 1 JE1006
18 RELAY, DP, DT, 24VAC 1 JD7819
19 BASE, RELAY, DP 1 JD7819-A
20 CONTACTOR, DP, OP, 2P, 30A, 24V 1 JP3530-D

21-A CONTACTOR, DP, OP, 3P, 30A, 24V, W/AUX CONTACT, 380V (TO 5/1/01) 1 JD7651-B
21-B STARTER, DP, OP, 3P, 50A, 24V, CA7-SERIES (FROM 5/1/01) 1 JD7651-V
22-A RELAY, OVERLOAD, THERMAL, PLUG-IN, 10-14AMPS (TO 5/1/01) 1 JD7651-12
22-B RELAY, OVERLOAD, THERMAL, PLUG IN, 7.5-11AMP (TO 5/1/01) 1 JD7651-11
22-C RELAY, OVERLOAD, THERMAL, PLUG-IN, 10-16A (FROM 5/1/01) 1 JD7651-34
22-D RELAY,OVERLOAD,THERMAL,PLUG-IN,6-10A (FROM 5/1/01) 1 JD7651-33

23 CONTACTOR, DP, OP, 3P, 90A, 24V 1 JD 7803
24 RAIL, DIN, STL, PLTD, TAIL, DOVE, 1 3/8X5/16 .208' JD7768-A
25 NUT, LOCK, CONDUIT, STEEL, PLTD, W/SEAL, 1-1/2 2 JD3849-01







1 PANEL, COIL, ELECTRIC, STEEL, PAINTED, E300 0 1 JP7714-08
2 NUT, HEX, JAM, STEEL, PLATED, 7/8-14 12 JD 802
3 NIPPLE, STEEL, SCH80, 3/8NPTX6LONG ON MAIN BOM 1 JD 919
4 ELBOW, MALE, S.S., FLARELESS, 3/8"OD SS TUBE 11 JD 684-01
5 TUBING, SS, ANNEALED, SEAMLESS, 3/8ODX.035WA 4 JD1930-17
6 TUBING, SS, ANNEALED, SEAMLESS, 3/8ODX.035WA 1 JD1930-29
7 ELBOW, STREET, STEEL, PLATED, 3/8NPT 1 JD3717-03

8-A COIL, ELECTRIC, E3000-C, 460V, INNER 3 JP7714-01
8-B COIL, ELECTRIC, E3000-C, 575V, INNER 3 JP7714-03
8-C COIL,ELECTRIC,E3000-C,415V,INNER,10K W 3 JP7714-09
9-A COIL, ELECTRIC, E3000-C, 460V, OUTER 3 JP7714-02
9-B COIL, ELECTRIC, E3000-C, 575V, OUTER 3 JP7714-04
9-C COIL,ELECTRIC,E3000-C,415V,OUTER,10KW 3 JP7714-10
10 SCREW, CAP, HEX HD, ST, PL, 3/8-16 X 3" 4 JD7289
11 NUT, HEX, STEEL, PLATED, 3/8-16 4 JD 846
12 BRACE, COIL, ELECTRIC, ST, PAINTED 2 JP6743
13 CLAMP, HOSE, GEAR, WORM, SS, 11/16TO1-1/4 DIA 2 JD1229
14 THERMOSTAT, MOUNT, SURFACE, 0-345 DEGREE F 1 JP3339
15 WASHER, LOCK, SPLIT, STEEL, PLATED, 3/8" 4 JD 613
16 WASHER, FLAT, STEEL, PLATED, 3/8 8 JD 873












